This report contains the transfers results.

Valid Votes
Positions to be Filled
Quota

Ward 6 - Gartcosh Glenboig and Moodiesburn

4,472

3

1,119

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Joseph BEEKMAN	Scottish Labour Party	826
Joanne Katy KELTIE	Scottish National Party (SNP)	728
Greg LENNON	Scottish National Party (SNP)	1,365
Patrick Pearse MCALEER	Scottish Greens - Think Global Act Local	203
Michael MCPAKE	Scottish Labour Party	929
Norma RAESIDE	Scottish Conservative and Unionist	421
	Total	4,472

Candidate Greg LENNON Elected with 1,365 votes, being in excess of the quota of 1,119

This report contains the transfers results.

Stage 2 - Surplus of Greg LENNON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Joseph BEEKMAN	35	0.18021	6.30735
Transfer to Joanne Katy KELTIE	1,092	0.18021	196.78932
Transfer to Patrick Pearse MCALEER	91	0.18021	16.39911
Transfer to Michael MCPAKE	63	0.18021	11.35323
Transfer to Norma RAESIDE	19	0.18021	3.42399
No further preference	65	0.18021	11.71365
Not transferred due to rounding			0.01335
	Total		246.00000

This report contains the transfers results.

Stage 3 - Exclusion of Patrick Pearse MCALEER

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Joseph BEEKMAN	26	1.00000	26.00000
Transfer to Joanne Katy KELTIE	103	1.00000	103.00000
Transfer to Michael MCPAKE	31	1.00000	31.00000
Transfer to Norma RAESIDE	12	1.00000	12.00000
Transfer to Joseph BEEKMAN	11	0.18021	1.98231
Transfer to Joanne Katy KELTIE	57	0.18021	10.27197
Transfer to Michael MCPAKE	8	0.18021	1.44168
Transfer to Norma RAESIDE	1	0.18021	0.18021
No further preference	31	1.00000	31.00000
No further preference	14	0.18021	2.52294
Not transferred due to rounding			0.00000
	Total		219.39911

This report contains the transfers results.

Stage 4 - Exclusion of Norma RAESIDE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Joseph BEEKMAN	107	1.00000	107.00000
Transfer to Joanne Katy KELTIE	20	1.00000	20.00000
Transfer to Michael MCPAKE	138	1.00000	138.00000
Transfer to Joanne Katy KELTIE	6	0.18021	1.08126
Transfer to Michael MCPAKE	3	0.18021	0.54063
No further preference	168	1.00000	168.00000
No further preference	11	0.18021	1.98231
Not transferred due to rounding			0.00000
	Total		436.60420

This report contains the transfers results.

Stage 5 - Exclusion of Joseph BEEKMAN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Joanne Katy KELTIE	72	1.00000	72.00000
Transfer to Michael MCPAKE	767	1.00000	767.00000
Transfer to Joanne Katy KELTIE	17	0.18021	3.06357
Transfer to Michael MCPAKE	17	0.18021	3.06357
No further preference	120	1.00000	120.00000
No further preference	12	0.18021	2.16252
Not transferred due to rounding			0.00000
	Total		967.28966